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Budget Line 

 A consumer aims at maximising his utility by reaching the highest indifference curve that he 

can achieve.  

 However, the level of the indifference curve that he can achieve depends on his monetary 

income and the prices of the goods. 

 The budget line represents the various combinations of the amounts of the goods, which the 

consumer can purchase given his money income and the price of the goods.  

 It is also called the consumption possibility line or the price line.  

 Assuming that there are only two goods, x and y, under consideration, the 

budget line can be expressed as 

M = PxQx + PyQy 

where M is consumer’s money income, Px is per unit price of good x, Qx is 

quantity of good x, Py is per unit price of good y, and Qy is quantity of good y. 

Consumption Baskets and the Budget Line 

Consumption 
Basket 

Qx Qy 
Total 

Spending 
A 0 40 Rs. 50 
B 20 30 Rs. 50 
D 40 20 Rs. 50 
E 60 10 Rs. 50 
G 80 0 Rs. 50 

Suppose, M=Rs. 50, Px=Rs. 10, Py=Rs. 5 

 In this figure, the slope of the budget line is the price ratio of the two goods. Here AB depicts 

the budget line of the consumer, as a straight line intersecting the X-axis and the Y-axis at 

points A and B, respectively.  

 We can determine the intersection of the budget line,  

 On the x axis (Point A) : Since Qy is equal to zero, Qx = M/Px  

 On the y axis (Point B) : Since Qx is equal to zero, Qy = M/Py  

 Slope of the budget line, 

AB = - OB/OA = - M/Py / M/Px = - Px/Py 

 The slope of the budget line is the price ratio of the two goods.  

 The budget set is the right angled triangle BOA, which is formed by the budget line. 

 Since the consumer’s savings are assumed to be zero, the consumer will spend all his income 

on goods x and y and he will choose a combination of x and y on the budget line. 
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Swing in Budget line 

 

 

Shifts in Budget line 

 

 


